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UB03CCOMO01/10 - Fundamentals of Financial Management

Note:
(1) Figures to the right indicate full marks of the question concerned.
{(2) Answers should be precise and to the point
(3) Total Marks: 60

Q.1 Explain the.various finance functions in detail. (15)
OR
Q.1 (A) Critically evaluate profit maximisation goal. (10)
(B) Write a note on: "Indian Financial System" (05)
Q.2 (A) Discuss the various factors affecting financial planning. (10}
(B) Explain the importance of financial planning. (09)
OR
Q.2 (A) Describe the advantages and disadvantages of equity shares. (10)
(B) Write a note on: (Any One) : . (05)
1. Public Deposits 2. Debentures
Q.3 (A) Define overcapitalisation and explain its causeé. ' (10}
(B) Write a note on: "Remedial measures for under capitalisation" (05)
OR

Q.3 (A) The total capital requirement of Abhay Ltd. is Rs. 1500000 and its (10)
earnings before  interest on debentures and tax is estimated at
Rs.700000. .

Following are the alternatives available for calculating Earning per

Share:

1. Ifonly Equity Shares are issued for total requirement.

2. If Rs.500000 is raised by issuing 14% Debentures & the balance
amount is issued as Equity Shares.

3. If Rs.500000 is raised by issuing 14% Debentures, Rs.400000 by
issue of 12% Preference shares and the balance amount is
obtained by issue of Equity shares.

Tax rate is 40% (Face Value of equity share is Rs.10)
Which alternative should be selected? Why?

(B) Explain the features of capital structure. | (05)

@ (PT0)

A




Q.4 (A) Sagar Co.Ltd. is considering to invest Rs.750000 in a Capital project.  (10)

AN o

The scrapt value is nil. Its useful life is 10 years. Tax rate is 50%. The
estimated cashflow before depreciation and tax (CFBT) is as follows:

Year Estimated
(FBTRSs.)
220000
280000
255000
295000
265000
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Calculate: 1. Pay Back period 2. Average Rate of Return.

Zenith Ltd. Plans to start a new project with an initial outlay of (05)
Rs.500000. The net cash inflow is given betow:

Year Net Cash inflow
Rs.

125000

187500

187500

125000

By Using 15% Present value factor, Calculate:
1. Net Present Value 2. Profitability Index

Present Value factor @ rate of 15% given below:

Year Pv factor@rate of 15%

1 (.8696
2 0.7561
3 0.6575
4 0.5718 "
, OR
Q.4 Write notes on: (Any three) (15)

LN~

Process of Capital Budgeting.
Average Rate of Return.
Significance of Capital Budgeting.
Pay Back period.

Features of Capital Budgeting.
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